a. 6.

a. 7.

a. 8.

a. 9.

a. 10.

0Z grhe™ Hin {ddMZ Hsalg

Describe Jain Literature.

agil iz H Al mE Hs-dkefZHS AnYra Hir {ddMZ Hsalg

Describe the spiritual and scientific base of Preksha dhyan.

ajil iz K a_1 Adina aHyre Si{bElR

Throw light on prime constituents of preksha meditation.

bU™ {Z_1U HS_hid Hin finiQ HaV hE CoHs arfa afHs™n Ha {dauz
His{OE &

Explain the importance of Goal setting and describe its process.

{Hs¥ht Mra na {0nUr {b{ I E/Write short notes on any four.

i) OZ _{VHb1/jain Sculpture
i) AN_ diMZ1/The Canonical Assembly
iii) ~JdiZ _hndra His g1YZn/Lord Mahaveera's Austerities
iv) AdgmnUr Hitb/Regressive half cycle
v)  UT1Z Hin fidédn/Nature of Meditation
vi) gdJ a~YYZ/Emotion Management
4
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Note: Attemptany five questions. Each question carries equal marks.

a. 1.

a. 2.

a. 3.

a. 4.

a. 5.

0Z Un_ His aMrzVi gfhE™ Ed naiVid HS ArYra na finiQ His{OEk

Explain the antiquity of Jain religion on the basis of literature and
archeology.

{g0 Hia {H§ AJdiz GsF~ Hin OrdZ EHS g_J OrdZ Wiig

Prove that the life of Lord Rishab was a complete life.

OZ Y_H$ » giaXi™n Hi dUZ HisOEk

Describe the main sects of Jain Religion.

0Z giH{V His {defViAr na aHie S{bEk

Throw light on the characteristics of Jain culture.

OZ Y_H _»" ndn Hr {da{MV Halg

Describe the main festivals of Jain Religion.

(i) H.n.C./PT.0.



a. 3.

a. 4.

a. 5.

{bHQ VI n~Y Hy dUZ His{OFi

Explain Likert's system management.

AWdi/oR
A{~aaUn His AdYraUn Ed _SJJa Trar Hin dUZ Hsanlg

Explain the concept of motivation and theories of McGregor.

gsafU g Ain S1 g_PV h? BgHis ~1YnAn Hy dUZ Hianlg

What do you mean by communication? Explain its barriers.

AWdi/oR
{08nUr Hsa - gafu VI Ed gJRZ gaMzs

Write a short note on communication networks and organisation
structure.

{08nUr {b{l~ - / Comment on any three :
(A) a~YH§s™ ™ _Hi / Managerial Roles
(~) {Z3_{Z°10Z / corporate planning
(g) {dir> A{™aaUn / Financial Incentive

(X) ~Xbrd a~Y His aHH{V / Nature of management of change.
*60

(i)
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Note: Attemptany five questions. Each question carries equal marks.

a 1. &Y gAnS g _PVh?a-Y Hs aH{V Ed a{Hs™n Hi dUZ His{OFi

a. 2.

What do you mean by management? Explain nature and process
of management.

AWdn/0oR
{Z710Z g Ain S™1 g_PV h? BgHis aHs™n H dUZ His{OFi

What do you mean by planning? Explain its process.

gJRZ His AdYraUn Ed aH{V Hin {diVia g dUZ Hanlg

Explain the concept and nature of organising in detail.

AWdn/orR
{d™JrHaU H b d hifZ Hi dUZ His{OE

Write the advantages and disadvantage of departmentalization?

(i) H.n.C./PT.0.



call. 15000 application received from public all on prorata.

A Share holder have 200 shares. did not pay allotment money but he
paid first call along with allotment in advances. A another holder of
500 debenture paid is Itand 11" call money along with allotment in
advance. Pass the entries.

a. 9. bK {Q8nUr Hi{OE/write short note.
(i) b In _1ZH§/ Accounting Standard
iy AWV_ 1iVIZFinal Account

*e
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Note : Attempt any five questions. Each question carries equal marks.

a. 1. Ae {ZJ_Z His a{Hs™n Hin {dfivia ndHs g_P1B™ &

Explain the procedure for issue of shares in detail.

a. 2. GSUnTn Hin nfa™i{fV Hs{OElk BgHls {defVIE, aHsra VWn {ZJ_Z Hin
~ViB & Ae d GSUnln Hs U™ AVVan Hin ~ViB™ Ed {d{*p aHan HS

A{Y_1Z AenHs aHna Hin ~ViB~ &

Define Debentures, its characteristics, type, issue and difference

between shares and debenture and Explain different kind of
preferences shares.

a. 3. » HV Hin n[a™{fV H{OEk BgHs {defVIE BZH a”{dV HiaZ dib Hiraks
Ed » iV HS aHlan Hi ~ViB™
{ZAZ{b{1V gMZn g~ G) diiVioHs AigV oK ViZ o H™ Oran iy A{Y IS

H§ 10 o H H™ Oran giiiy nOrHSaU {{Y Unan » iV Hin €™ kaV Hi{OEk

(i) H.n.C./PT.0.



1) AngV {d{Z"{OV nOr 4,00,000 €.
2) {nNb 4 dfn H§ €O 1" mifaHs bi™* H§_e. 68000, 75000, 80000
d 92,000 é. hi

3) iTdgr _gu ™ & His Xa 15%
4) {nNb Xn dfn H b Ja i~ digr{"HS {d{Z1d g 3000 His An®
gi_{bV hig

5) ficn_r Hir CgHis gdnAn Hs {bE C{MV mifal{_H§ 15000 é. hig

Define goodwill. Its features, factor affecting goodwill and type of
good will.

By the following information. (i) By 3 years purchase of actual average
profit., (i) By 10 year's purchase of super project., (iii) By capitalization
method.

1) Average capital employed Rs. 4,00,000

2) In last four year gross profit are 68000, 75000, 80000 and 92000
respectively.

3) Rate of return for business 15%

4) In last two year profit Rs. 3000. Included which is by non business
investment.

a. 4.BZ Xn na bK {0fnUr {b{ IE/write short note on these two.

(i)  ~IHSJ HianZr H§ {bE piibn i~ diiWi/slip system for banking company.
(i) AerHs & 1HZ His Aidi HVi S rh Vo Aen HS & Hin av{dV
HiaZ dilo KQHS Ed_ Aen HS & 1HSZ His EHS {d{Y ~ViB~&/why we

need valuation of shares, factor affecting value of shares and one
method of valuation of shares?

a. 5. g{db™Z, ~16 nZ{Z_nU VWn EHisHSaU Hit n[a”{fV His{OE/G EHisHSaU HS

aHar Hyn ~ViB™ Ed CZ {c{Y™n Hit ~ViB™ {OZ_ HSAn{Z n H§ EHSsHSaU HS
g_" H™ aV\$b Hit {ZYraU {HS"1 Onvi hig

(i)

a. 6.

a. 7.

a. 8.

Define absorption, External reconstruction amalgamation. Explain the
type of Amalgamation and methods by which purchase consideration
are decided at the time of amalgamation.

gl Yrar Hi&nZr S™n h?2 BgHs br™ d hifZ ™1 ~ViB™1 VWi Hig EHS g1 Yrar
HanZr ~ZiB Ovr h Ara b In Hin a/{dV HiaZ dibor HanZr A(Y{Z™ _ HS
{d{elQ andYnZ HS aHma ~ViB™

What is holding company their advantages and disadvantages and how
a holding company is created and mention the special provisions of a

company law which affect account of a holding company.

MNaV {b. 31 1M 2010 Hit AnZ 50 €. dib 10000 10% A{Y 1Z Aen
H enYZ gn ™ gM™ g Hazn MshVr hig Andi~HS n{diQ™n Xr{OE ~{X
erYZ- A)yg_ 6 nakd (~{af ~_na

Bharat Limited Redemdeb 10000 10% preference share of Rs. 50 inout
of general legdog on 31 March 2010. Past the necessary entries if
redemption (a) At par and (b) At premium.

0™V {b. Z A{™XIZ H {bE 50 é. dib 1000 GiUni {ZJ{_V {H™ On X"
W - 15 é. AidXZ na, 20 é. ~QZ na, 10 é. aW_ _1J na Ana 5 é.
{0V 13 nalt 15000 GSUNTn Hir BarXZ HS {OE ArdXZ nl & {H§™ia
AW Hin GSUnTn “WiZniV ~{QV Héa {XE JEig

EHS 1SV {OgHs mig 200 Ae Wik ~QZ Hi g~ X arfe Hy ~AIViZ Zht
[H™1l& CgZ ~QZ na X~ arfe Hit aW_ _nJ HS giW AIVIZ Hia {X1lg Xga
1SV Z {OgHs mg 500 GSUNnT Wig ~QZ arfe HS giW hr ™ HE _1dn
Hin Ar AJVIZ Hea X 1lg HSanZr nfiVHS  OZabo &{diQ ™ His{OFl

Jayant Ltd issue 1000 debenture of Rs. 50 paybler as Rs. 15 on
application Rs. 20 on allotment, Rs. 10 on first call and Rs. 5 on second

(iii)



a. 3.

a. 4.

a. 5.

What is debenture? Describe the legal provisions regarding issue
of debentures.

EHS HianZr _ gMibHin His {Z™pSV g~Yr &fHs™1 Hi nUV"n dUZ His{OER

Describe fully, how directors are appointed in a company?
AWdi/oRr

{08nUr Hiar—/Comment on-
a{Vnésf Ed JUn{V/Proxy and Quorum

AiXe AiV[aHs {ZarjU aUbr His {defViE ~ViB™ig

Explain the features of an ideal Internal check system.

AWdn/orR

AV[aHS AHSjU Hir AW ~ViB™1& AiV[aHS AHSJU HS CXXi ™ H dUZ
His{O ™18

What is the meaning of Internal Audit? Explain the objects of
Internal Audit.

~

"EH§ AHSHS all dibor HaZ dib Hli H g_1Z h, {eHiar Hin HS g_1Z
Zht'* Bg HWZ g Amn Hhn VHS gh_V h?

"An auditor is a watch dog not a hound™ How far do you agree to
this statement?

AWdi/oR
HSaNZr AHSFHS HS X" Edn Hin dUZ H{O ™1

Describe the liabilities of a company auditor.

400
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Note: Attemptall questions. Each question carries equal marks.

a. 1. {ZOr d grdO{ZHs HianZr _ AVa ~ViB™1&

Explain distinction between private and public company.

AWdn/orR

nifX AVV{Z™ 1 .g Am S g_PV h? BgHss {df g1 Jr Hy dUZ
His{O ™18

What do you understand by articles of association? Describe their
contents.

a.2. AenOr_H rgAmnS g PVh?AenOr _H rHiaZ Hs aH
Hit g_P1B™ &
What do you understand by reduction of share capital? Explain
the procedure for reduction of share capital.

AWdi/oR
GSU nl S™1h? GUnIn H {ZJ_Z g&~VYr Hizzr andYizn Hyn dUZ H{OE

(i) H.n.C./PT.0.



a. 6.

a. 7.

a. 8.

a. 9.

a. 10.

“h _{Z™ {H nfadna H§ Xn gXfi™n His {ZOr Ai™ 1,50,000 &n” g A{YHS Ed
Hia— "1t hit/ Assume that two members of the family have their individual
taxable income exceeding Rs. 1,50,000.

HsaXav His Hib A~ His JUVI HiaV g~ {d{"*b aHira HS AJVizn HS g&~YY _ Xr
O1Z dabor HQr{V 1 H gjn _ g_PIBER/Explain in brief the deduction to an
assessee in respect of various payments while computing his total income.

Gig S™nh? Gig His HQvr HS g&~1Y _ ArtHia A(Y{Z™ _, 1961 His i~ diiWnAu
Hér 0_ PrAil&/Whatis depreciation? Explain the prowsmns of Indian Income
Tax Act, 1961 regarding depreciation allowance.

Hi2 {ZY1aU df 2016-17 H {bE Ir_Z10 Urar X™ A(J_ Hia His JUZ1 HS{OE,
“{X CZ na nhb H¥r Hia Hir {ZYraU Zht hAn hiig {dlnr™ df 2015-16 HS {bE

CZHs AZ 1{ZV Hia “i™ An {Z3Z aH¥ia hit/Compute the advance tax

payable by Shri Manoj for the assessment year 2016-17 if he has not been
assessed to tax previously. His estimated taxable income for the financial

year 2015-16 is as under.

(i) gaHhar aVV"n na & 10/Interest on Govt. Securities. 6,000
(iiy 1 mma g bi™/Profit of business 71,000
(iii) AénHiibrZ nOr b/ Short-term capital gain 18,000
(iv) bmar g An"/income from Lottery. 4,000
(

v) dVvZ 30,000 &n" &{V_1h/salaries Rs. 30,000 per month. 3,60,000

Mavr™ AnHa A[Y{Z™ _HS AZgra "Hia—{ZYnaU Hs Hin™{d{Y" Hir finiQ Hi{OE&

Explain 'Procedure for Assessment' under the Indian Income Tax Act

{82 na {0Bn{U"n {b{1
(i) JA"BQr/Gratuity

(i) _H9Z {Hsan™n ~m/House Rent allowance
(

(i

“le/ write notes on the following.

i) neZ Hf EHS iV ar{e/Commutation of pension
iv) AdHile Hy ZHiXiHiaU/Encashment of leave salaries.

00
(iv)
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a. 1.

{Z brAO_a_Xi _H
{Z4Z aHyia h-
Nirmala is the owner of two houses at Ajmer. Details regarding both houses
are as follows-

§iZn His fid{_{Z hig XiZn _HaZn H§ ga~Y _ {diVV {ddau

Detail I*t House [I"M House
Fair Rent 1,50,000 1,92,000
Muncipal Valuation 1,40,000 1,44,000
Standard Rent 1,20,000 1,56,000
Rent per month 8,000 12,000
Property vacant for 1/5 year  for 2 months
Muncipal Taxes 10% of M.V. 10% of M.V.
M.T. paid by Owner Tenant
Loan to construct House 1,00,000 10,00,000
Loan obtained on house 7" Nov, 2013  I*t April, 2012
Construction It April, 2014  I**June, 2014
Rate of Interest 10% p.a. 10% p.a.
Unrealised Rent Nil 2 months

Hia-{ZYraU df 2015-16 H {b™ CZHs HYZ gan{V g Ha-"1> An~ ki

H$S{O‘/ Find taxable income from house property for the assessment year
2015-16.

(i) H.n.C./PT.0.



a. 2.

a. 3.

Ar™Hia HS {bE HiaXiVi Hi {Zdng fiVa Amn {Hig aHiia {ZY1[aV HsaJ? CXihaU
XV hE finfQ His{OE

How will you determine the residential status of an assessee for income
tax purpose? Explain with examples.

{ZaZ{b{1V {ddaU g 31 M 2015 H1 g_ra hiZ dib df HS {b™ EHS 1 nnnar
His 1~dgn™ His Ha “i™ A kiV His{OEi

Find out the taxable income from business of a merchant from the
following particulars for the year ended on 315t March, 2015.

Rs. Rs.

Salaries including Gross Profit 55,850
proprietor's Salary Interest from 1,490
of Rs. 8,400 17,000  Securities
Office expenses 1,600 Bad debts 1,200
Reserve for B.D. 2,000  Recovered
Fire Insurance Premium 1,000 (Earlier not allowed
Bad debts 3,000 as deduction)
Rent 2,400  Sundry 800
Advertising 1,200  trade receipts
Income tax penalty 2,500  Rent from subletting 2,500
Discount 1,800  Govt. Grantrepayable 8,000
Loss on sale of furniture 3,600 in 20 years
Interest on Bank Loan 1,500  Income tax refund 2,000
Interest on Capital 1,600
Depreciation 3,200
Goodwill written off 2,400
Travelling Exp. 1,200
Loss through fire on 2,000
Stock in trade
Contributin to 2,500
Unrecognized P.F.
Charitable Donations 1,000
Net Profits. 20,340

71,840 71,840

(i)

a. 4.

a. 5.

01.04.2004 Hyn \iZiMa Hir An{b{1V _&" 20,000 &n> Wit ArYn \ZiMa
6,400 &n~ _ ~M {X"n J"n Ed 3,600 é&n" Hs h{Z bi™-hiiZ 1V _
hiViYV[aV Ha Xré bir-hi{Z 1V _ {b v JB Gng His arfe _ ~M hE 10,000
&n" HS \iZuiMa Hyr 10% H Xa g o1g gpa_{bV hig

The written down value of furniture on 01.04.2014 was Rs. 20,000. Half of
the furniture was sold for Rs. 6,400 and loss of Rs. 3,600 was transferred to
profit and loss account. The amount of depreciation charged to profit and
loss account includes the depreciation of remaining furniture of Rs. 10,000
@ 10%.

nOr b Hin n[a™{fV Hs{OElk AénHibrZ d XiKHibrZ nOr i ~X

His{OE HiZ-HuZ g nOr b Hia SV hi?
Define capital gain. Differentiate between short term and long term gains.
Which capital gains are exempted from tax.

(ZAZIb{1V {ddaU g Ha {ZYraU df 2015-16 Hj {bE {niX A{d~{OV

nfadna Hs Hb An™ Ed X" Hsa His JUZn H{OEk

Compute the total income and tax payable by a Hindu undivided family
for the assessment year 2015-16 from the following particulars.

(i) 1 mnma Hs An® 4,56,000
Income from business
(i) _HuZ gan{ln Hs An~ (AHY{bV) 44,000

Income from house property (Computed)

(i) ~H _ O nafe nad 10 38,000
Interest on Bank Deposit

(iv) CgH$ Unan MH™n 370 OrdZ ~r nar{ ™ 20,000

Life insurance premium paid by him

(v) gHb H{f An® 30,000
Gross agricultural income
(vi) HS{F {HS nAn na {HS"n Jn 0™ 16,000

Expenditure incurred on agriculture operations

(vii) H{F A" naad gata Oran b 311 2,000

Tax levied by state government on agricultural income

(iif) H.n.C./PT.0.



a. 6.

a. 7.

a. 8.

a. 9.

a. 10.

What do you understand by monetary policy? Describe various
tools of monetary policy.

[Z3Z{b{1V na {QfnUr"1 {b{ 1 Elé/Write short notes on following :
(i) CXiarHiaUrLiberalization
(iiy N _ESbrHiaU/Globalisation

MV His dV_1Z AniV={Z 1V ZrV K {d{b andYnZn Hi dUZ His{OEl&
Explain the salient provisions of present export import policy in
India.

{dHyngerb Xen His a_ 1 AlUJHS g_ii™1E HYZ-HAZ gr h? "V H
gX _ dUZ Hi{OFl

What are the major industrial problems of developing countries?
Explain with special reference to India.

{did ~HS H &_1 CXXi~ S 1h? BgHs Hir™n o AtiMZiE_HS narj U
His{OE &

What are the main objectives of "World Bank'? Critically evaluate
its functions.

{Z4Z na {Q8nUr {b{ 1El/write notes on the following.
() AIY{ZH g T idgi{"HS ZVHVA

Current scenario of business ethics.
(ii) gn_KOHS divadaU Hin i~dgr™ na a’™d

Impact of social environment on business.

400
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a. 1.

a 2

a. 3.

a. 4.

a. 5.

AfWHS n™daU g Ain S1rg_PV h? BgHs {d{™p KQHé Hi dUZ His{OER
What do you understand by Business Environment'? Explain the
various factors affecting business Environment.

A, ~MV Ed {d{Z 0 na EHS {Z~VY {b{IER

Write an essay on Income, Saving and Investment.

AUs{JHS €1UVn HS S™n HyiaU h? BgHSs atHWn_ HS {bE Amn S
gPid XJi&

What are the causes of 'Industrial sickness'? What remedies would
you suggest for preventing it.

{Z&Z{b{1V na {oknUr"1 {b{1 El/Write Short notes on following:
() jIr Ag¥VbZ/Regional Imbalance
(i) _DfiN&{V/ Inflation

IPHS ZrV g Ain S1 g PV h? _i{PHS ZAV HS {d{MP CnHiaUn Ha
g_P1BE&

(i) H.n.C./PT.0.
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a. 1. n[a10zZr &~y g Amn S*1.g_PV h? BgHs a_1 CnHialUn, CXXi
Hi1 dUZ H$S{OEY&
What do you understand by project management? Discuss the
main components and objectives of project management.

a2, "MaVrt CUni _ n[a’10Zn Ag\sbVi H§ »™ HiaU' na EHS {dRVV
bl {b{lEY&
Write a detailed note on 'The main causes of project failure in
Indian Industries'.

a.3. gi_fOH bV b {dibfu g Am Sn.g_PV h? gn_i{OHs bilv
b {dibfU HS {HiVht Xo NifQHRU Hr dUZ HSs{OFia
What is social cost profit analysis? Describe any two approaches
to social cost profit analysis.

a. 4. {ZaZ{b{1V na {QfnUr {b{IE-
(i) H.n.C./PT.0.



a. 5.

a. 6.

a. 7.

a. 8.

(i) UNIDO H§ AZgra n[a~10Z1 MHS AdAwEl
UNIDO Project Cycle Phases

(i) n[a"10Zn g’™i~Vi _ ~10ma {dibfu
Market analysis in project feasibility

n[a“10Zn gJRZ HS gfiWinZ Hy {diiVia g g_P1BE?

Briefly describe the setting up of project organisation.

nfa“10Z1 a~YHS HS JU Ara CgHis ~_Hin Hi dUZ His{OEl
Describe the role and quality of project manager?

n[a~10Z1 &~Y gMZn VI Hi g_PrBEk

Explain project management information system (PMIS).

EHS {Z_1Ur HinZr EHS n[a"n0Znna 1,00,000 én™ Hit {d{Z "nJ aivi{dV
HiaVr h {Og_ 6 dfin VHS €D Ar™ &g Ara 4710 nd nalV Hia H§ ~1X
{ZaZ aHya hndr-

It year - 30,000
[I"! year 20,000
[ year 20,000
IVt year 18,000
Vthyear 18,000
VIt year 12,000

NZAVIZ Ad{Y His JUZn His{OE

The management of a manufacturing company proposes to invest
Rs. 1,00,000 in a project which will give net earnings before
depreciation and interest and after tax for 6 years. Calculate the

pay backperiod.

(i)

a. 9.

a. 10.

E HanZr Ho &~YYHS EHS n[a™10Zn _ 8000 én™ Hir {d{Z"1J Hiazs
MihVi h {Og_ 5 df VH A~ & hidr Hia ~iX nafV &g nd AOZ
nhb df _ 2000 én” {0V df _ 4000 én”, Wr* df _ 4000
én~, MVW df _ 2000 én™ VWn naMd df _ 1000 én™ hndrig Hin™n
a~YYHS Hin gloh XH{OE {H ~h n[a“10Zn bZn giWHs h ~n Zhtle ~{X
a~YYH$ Z dV 1Z & His JUZn HS {bE 10% ~An Xa Hir gPrd {X "1 hig

The management of 'A' company wants to invest Rs. 8000 in a
project which will give earning for five years. The earnings after
tax and before depreciation will be Rs. 2000 for I** year, Rs. 4000
in 1" year, Rs 4000 for I year, Rs. 2000 for V™" year and Rs.
1000 for V" year. Please suggest the management whether this
project is good to be taken. Calculate the Net present value (NVP)

@ 10% discounted rate.

n[a 1021 AdHYV His gaHiar Zr{V Ed 1~ diiWn Hir g_PiBER

Describe the Govt. policy and system for project sanction.

400
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